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NoTE:— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.
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0 Attempt any five questions.
'IU Marks are indicated against each question.
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1. (a) If the demand curve is a rectangular hyperbola,
what will be the value of MR? Comment on the
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nature of relationship between price elasticity of
demand and TR.

afg AT aF TH SEAER AfEed 8 @ MR
& qed A1 A2 Wi # qed A9 qur TR H
gy & Ypfa ) fewft sifsa | o M

(b) The table gives two demand schedules. Using only

the Total Expenditure criterion, determine if
these demand curves are elastic or inelastic.

Y & it wrel & w1 Aeggw A[f ¥ 1 FA =T
Fd w1 T wY g sl @A fE A

TFAEMA e AT AGa Rl 7.5
P(Rs.)| 6 5 g ida 2 1
05 100 110 120 150 200 300
Oy 100 150 225 325 500 110

Or (31gan)

(a) Table below gives quantities bought of comm-

odities X, Y and Z before and after a change in
their prices.

Commaodities

Before After

Price (Rs.) |GQuantity/Month |Price (Rs.) |Quantity/Month
X 40 300 30 400
i 4 20 150 10 100
Z 15 100 20 90 -
X 10 150 10 120

Find cross elasticity of demand from the table
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given between X and Y (exy) and between X and
Z (exz) and find the nature of their relationship.

THA X, Y M Z F gt F aRedw @ qear
T A F SR G T e # A wnoh &
ﬁ:mmn%:

i e e
W (o) | WE/AR | (o) /AR
¢ 1o o - 30 400
W @ 150 10 100
o 15 100 % o
i 10 150 %0 i

(b)

2. (a)

nﬁaﬂqﬁ?h?a?r?ﬁvs‘umﬁﬁmaﬁﬁqa‘r
X T Y (exy) IR X T Z (exy) auiat 3 qon
mmaﬂmvﬁmmn 7-5

Does a change in producers technology lead to a
movement along the supply curve or a shift in the
supply curve? Does a change in price lead to a
movement along the supply curve or a shift in the
supply curve? Explain with diagrams.

3ﬂ'€ﬁ'aﬁaﬁﬁﬁqﬁaﬁwaqﬁfama;
quﬁmﬁmémﬁ;{mﬁ@
TR F 3 2 fet F s

Praw the Budget constraint for a person with

income of Rs. 1000, if the price of good X is Rs. 5

and the price of good Y is Rs. 10. .
P.T. %%
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(a)

(b)
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What is the slope of Budget constraint?

afz a& X B qed 5 To & qM A Y H A
10 %o % A 1000 Fo W A A = F ford
S aTET QTS o © 2 7-5

Explain Consumers equilibrium with the help of
indifference curves and budget line.

a1z Y@ o ST S H gerd § U

¥ G S quFRT | 4 78
Or (Agan)

How would changes in consumer’s income affect

his choice? Explain with the help of indifference
curve and budget constraint.

IqsieET & g § ufEdd fhd WeR SHA T8<
2 yfad S £ a9 S™r a™n STl T
T e ¥ quEnEl | 1-5

What do you mean by Price Consumption Curve
(PCC)? Derive the demand curve from PCC when
demand for a good is elastic, unitary elastic and
inelastic.

ngwsﬁwam(PCC)ﬁmmm%?
n@mmﬁéqﬁaﬁmmaﬁaﬂ
wtn e §, Qe R, G §HE o A

- - 1.8

3. (a) Draw the Marginal cost curve and Average cost

5 7028

curve for a typical firm and explain why these
curves cross where they do.

% yE@ &9 F fou diuea dr 9% q9r sited
AN o fAeay qur 99emRy fe 3 O -
TW B F FA B, el I FE R 7.5

. (b) Define Economies of Scale and Diseconomies of

Scale and explain why they might arise.

tae @ srdegaen qu tum & faEfaEr
uftwifya T qon gugRe fF 3 =& o= @
gFdt 21 7.5

Or (379e)
Explain the law of variable proportion. In which stage
does a rational producer operate?

yREdTeiier SIqaa & Frm @ e R ' W
TS qhETd 3G YR HTAT ¢ 2 15

. Compare Perfect Competition and Monopoly with

respect to:
(a) Price and Output
(b) Welfare.

wof ST qon TwfeER @t qa o % e |
HIfST:

(a) YT AUT SATRA

(b) S | %

Or (319a)
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Explain short run and long run equilibrium under
monopolistic competition.

IR Sfadfar & dufafa qor erewEia ge
HHART | 15

. (a) In the long run equilibrium, all firms in the
perfect competitive industry earn zero economic
profit. Why is this true? Explain with a diagram.

drefafy g # Qf sfaafares sam & @t
w Y e @ A ¥ o 9% we ?2
o =t "erEar ¥ THesT | | 7-5

(b) The price paid to each factor adjusts to balance

the demand and supply for that factor. Explain
with the help of diagrams.

T® FRE H @ mar qen gurifva s @
3W FR& &t "1 g Agfd @ el o e 9
HHEART | 75

; Or (1gan)
(a) The prisoner dilemma in an oligopolistic market is

an exercise that will show the participants that
cooperation is a choice. Explain. ;

Sl aoR ¥ FE gfaar o sy @
St sfqnfirat =t fe@rar 8 o weeniar o fasen

2 | WS | %)7-5
(b) Why do we get a backward bending labour supply
curve?

LY
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For Visually Challenged Candidates only
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Attempt any five questions.
All questions carry equal marks.

el St % SR AT
T & siF FT% w sEd &

. Explain the Law of Demand. What causes a movement

along the Demand Curve and shift in the Demand
Curve?

A % FEw & guEEe | 69 9% & 91y Tt S |
% o gRadT foFe R 8 €2 . 15

. Explain Price Elasticity of Demand and the factors

affecting elasticity of demand.

AT H FHT AT H GHAET 9T AT H A R
TIfqd A 9T FRe i Ty | 15

. Explain the Law of Variable Proportions. In which

stage will a rational producer produce?
TfEdaeiia oruml & fraw &t gwemsw ) adhETd
I fopy =0T W IR HM? 15

. Explain the characteristics of Perfect Competition.

| o 5 A
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quf sfEfitar St faRwaet S queE | 15

5. What are the causes of Monopoly? Does a monopolist
always earn high profits?

mfm%smwaﬁ%?@@wm
AN I A1 HA & ? | 15

6. Define Market. What are the assumptions of
monopolistic competition?

IR gftarfyd sifeg | QEI-TTFY-EFT('T gyfaafiar =it
arrand 4 8 2 15

7. What are the factors of production? How is the
demand and supply of a commodity different from that
of factors of production?

Wé‘mwﬁ%‘%?mmaﬁma
g FF TR S % R A e At €2 1

8. Write short notes on any iwo of the following:

(a) Marginal and Average Cost.

(b) Returns to Scale

(c) Backward Bending Labour Supply Curve.

frer & & el @ W dfera feomlt fafae

(a) HiHig qun sitea @ '

(b) um @t aroEt

(c) WS F AT Pl FTen HH AYF T | 15
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